Here the percentage calculation is correct in the parent Issue (with children, without small children)

Parent Issue
Percentage (calculated): 36%
Estimated time (calculated) :1321.4

Child Issue 1 Child Issue 2 Child Issue 3
Percentage (manual entry): 69% Percentage (manual entry): 0 % Percentage (manual entry): 0 %
Estimated time (manual entry): 684,4 Estimated time (manual entry): 392 Estimated time (manual entry): 245




Here the percentage calculation is incorrect in the parent Issue (with children and small children)
(The percentage is the average of the children tasks percentages of first level of the parent without considering the estimated time)

Parent Issue
Percentage (calculated): 36%
Estimated time (calculated) :1321.4

Child Issue 1 Child Issue 2 Child Issue 3
Percentage (calculated): 70% Percentage (manual entry): 0 % Percentage (manual entry): 0 %
Estimated time (calculated): 684,4 Estimated time (manual entry): 392 Estimated time (manual entry): 245

Child Issue 1 Chila Issue 1
Percentage (manual entry): 70% Percentage (manual entry): 70%
Estimated time (manual entry): 300 Estimated time (manual entry): 384




